VALUE SHOPPER #440000 (EXPLODED VIEW)

ORDERED 12/11/06- PRESENT

6816

1079

10480.10
7852.10

10797

1963
FULL LENGTH
NOT SHOWN

12/06.ENG

AMIGO MOBILITY INTERNATIONAL, INC.

&
EVABESR <493 Dixic Highway, Bridgeport, Ml 48722-9725
Phone (800) 248-2131 ® Fax (800) 334-7274 * www.myamigo.com



Part#
1035
1069
1138
1184
1189
1192
1258
1272
1381
1614
1872
1963
2236
2237
2433
3083
3622
3690
3798
4075
4790
5190
5630
6263
6312
6816
6905
7281
7441
7657
7773

\VVALUE SHOPPER #440000 PARTS LIST- ORDERED 12/11/06 — PRESENT

Description
Jackshaft bushing

Washer .65 ID .88 OD shim
Drive chain (66 link)
Screw 1/4-20 x .50 truss

Washer .38 ID .75 OD cone lock
Washer .281 ID .63 OD .06 flat

Screw 5/16-18 X .75 hex
Belt gear type

Retainer e-ring

Washer .312 ID flat

Pulley driven

Wire loom .437 ID

Screw 3/8-24 x 3.75 hex
Nut 3/8-24 hex

Screw, #8-32 x 1.25 Rd Hd
Nut 1/4-20 serrated flanged
Nut 1/4-20 hex nylon insert
Label patent

Screw #10-24 x .625 Pan Hd
Screw 1/4-20 x 2.00 FHCS
Wheel 6” w/ bearing

Screw 1/4-20 x .62 SHCS
Nut, #8-32 x Hex Keps
Screw #10 x .75 pan
Screw 1/4-20 x 1.75 carriage
Basket shopping

Nut, #6-32 Hex Keps
Screw 1/4-20 x .88 SHCS
Circuit breaker 25 amp
Screw #10-32 x .375 pan
Cap vinyl insulated

7852.10 Wire asm charger to MPC

8216
8275
8534
8969
9133

Charger 3 Amp

Screw, #6-32 x .50 Flat Hd
End plugs

Cable MPC handle control
Seat black commercial

9157.10 Seat switch

9766 Wire asm battery quick disconnect
9768 Wire asm controller quick disconnect

9936

Handle, upper

Oty/unit Part#
1 9937.21

6 10050

1 10094

2 10151

2 10268.11

4 10391

4

1

2

4

10393
10394
10399
10400
1 10401
42 10402.10
1 10405
10407
10421
10423
10451
10465
10480.10
10495
10534
10610
10686
10794
10797
10799

10803
10806
10841.10

Description
Column asm non-tilting handle

Bearing set

Screw #8-32 x .38 self tappng
Foam insert adhesive backed
Label Value Shopper

Motor 24V DC

Ground strap lanyard

Strap basket support

Boot battery terminal black
Spring .65 ID x 6.0 long

Axle

Fork weldment

Bracket AC cord holding
Caster wheel

Wheel housing red

Boot battery terminal red

Panel retainer

Strap wire support

Screw 1/4-20 x 6.5 hex

Spacer .48 ID x .75 OD .375 length
Clamp, Nylon Cable

Grommet 7/8” groove dia. 5/8 ID
Label cord hanger

Mat platform

Wire asm motor to controller
Sign operating instructions
Sign safety instructions

Plug rectangle

Foam tubing

Drive head asm Value Shopper

10940VSQ CPU Value Shopper programming

10947
11004
11024
11025
11026
11044
11045
11074
100300
100465
269002

1
2
2
5
1
1
2
2
1
2
1
4
1
2 10800
2
1
2
2
1
1
2
2
1
1
1
2
1
1

Wire Asm, 18 pin Interface
Enclosure & pot w/rocker switch & Batt Gauge
Wire Asm, IEC Receptacle
Wire Asm IEC AC Cord
Jacknut, #10-24 Steel
Platform weldment

Battery cover

Wheel & sprocket asm

Pulley motor & pin

Jackshaft & sprocket (9 tooth)
Battery U-1 33-35 AH

AMIGO MOBILITY INTERNATIONAL, INC.

&)
EVABEER <493 Dixic Highway, Bridgeport, Ml 487229725
Phone (800] 248-9131  Fax (800) 334-7274 & www.myamigo.com

Oty/unit

=

NP RPRPRPRPRRPRPRPRPRPRPRPREPNRPRPRPREPREPNRLPNONNMNNRPEFNRPRPRENNDMRR,RE,NNLERE

12/06 ENG



VALUE SHOPPER WIRING DIAGRAM

ROCKER/KEY
| THROME SHITCH |
POT THROTTLE CIRCUIT BOARD BATTERY BATTERY
| % BLK | 12V D.C. 12V D.C.
: B 130 !
| | : - : -
! ! RED BIK RED BLK
| d |
1 [+ 1
| g5 | 8 BLK
! 2 !
MODULAR CONN.
TTTT TP oF WANDE - =
& m
CoRNECTIR D BLK
= /_10947 ———
L] A BLK - - .
seace/seat (D — BIK e \
] L RED ‘ COMMERCIAL USE |
E= — BIK ‘ Ny !
CS1108 E= \V} | |
CONTROLLER BLK - 1
10940XXX - RED
BATTERY I . N
GRN
- - BIK| cHARGER |— RN }:E B é NOTOR
bt'j ————pi —t WHT BLK |
— BLK RED
MOTOR -
\—7852.10
MOTOR + E!
VALUE SHOPPER
WITH SMART CHARGE
) M LTS
S — e a1 — 2
g, CHARGE
ROCKER/K_EY| Bk
| THROMLE SWITCH |
THROTTLE CIRCUT BOARD
| POT ALK | BLK
' ' BATTERY
i i 12V DC FQV“EF_‘CY_
1 = Q 1
1 i % 1
| = |
H # 1
| g @) |
MODULAR CONN. J
T TP oFmmE
CONNECTIR D
== 10947 P
L [ BLK | - - -- |
BRAKE/SEAT 4 I’ i BLK SEAT SWITCH (N.C.)
H L1 RED ! CIMMERCIAL USE |
—— — BIK ‘ ONLY !
CS1108 E= \Vj | |
CONTROLLER BIK = - - 1
10940XXX - RED
BATTERY I N . -
GR
- T BLK| CHARGER GRN[[ }qE E NOTOR
E" — Wi —i WHT BLK
or - [— \% BLK RED
\—7852.10
MOTOR + E!




	0082375 - 0091870
	Value Shopper Gen 2 Wiring Diagram November 2006 - August 2007

